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Mean Value Theorem for Integrals
(Average Value Theorem for Integrals)

continuous on the closed interval [a,5] , then there is at least one number “c

at
zj'f(x) dx = f(c)- (b - a) where:

b
If(x) dx is the area under the curve,

f(c) is the mean or average value, and
"c"is the value of "x" where the mean or average value occurs.

f(c)-(b —a) represents the area of the rectangle.
f(c) is the Meanor Average value (height of the rectangle).
(b —a) is the width of the base of the rectangle.




the average value for the function F(x) = x(x* - 2)% on the interval from x
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‘he mean value for the function #(x) =sin’ xcosx on the interval [0,7%] and where
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ate the mean value and where it occurs for the following func
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